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6 il ®3 18 24 15 57 | efi g EHE
7 HER Ex 17 26 14 57 | 74 | mmixE | &HE
8 BX BE 18 31 8 57 | 8ff | ExEM | HE
9 % E 14 23 18 55 | ofi 3] HE
10 WE * 16 23 16 55 | 104 | B | &
11 RE Bl 16 26 12 54 | 11fif | b | 4
12 EH GE 15 25 13 53 | 126 | ixFs &
13 HIL BER 16 29 8 53 | 136 | s | HE
14 K St 16 30 7 53 | 14fif | K | FE
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19 FH #KRER 16 21 14 51 | 196 | b | &4
20 NE # 15 25 11 51 | 206 | semm e
21 X8 R— 15 26 10 51 | 214 | wewx | &HF
22 TE ER 18 29 4 51 | 226F | ke 55
23 ZE BR 14 25 11 50 | 236% | ke 55
24 Al & 16 24 10 50 | 244 | =xEM | BE
25 R &S 16 26 7 49 | 256% | e | 44
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30 B Fib 17 23 5 45 | 30f% | =+EM | EHE
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39 AR XH 11 21 5 37 | 396L | = 5
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48 I8 1EB7 19 0 0 19 | 48% | weEmK | HE
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